
� 187

2711 45

26

8

45

Ø7,3

11,25

6,5

Ø4

00125101

8 10

00139084

00119981 00119983

J

45

45A C

D

B

00131555 00109298

4,5

2,5

7,6

Ø4

15

3022

45 4

21 8

45

21

+ 2x
/ LE 1

DIN 7991
M6x16

00125100

8

00139085

(4x) (4x)

(4x)(8x) (4x)

M6x14 M6x18 8M6 10M6
00130004

00139082

D

F
A

H

B

K

E

I

00139083

A

H

C

E

D

I

E
G

DIN 7991
M8x20

2x 2x

00116459

10

A B C E

G H I J

3 842 538 281 (2017-10) � Components | MPS 7.0

Material shuttle assembly elements

L (mm) ESD No.

A 45x45L strut profile; material: aluminum; anodized 50 … 6000 1 3 842 993 737/L

6070 20 3 842 553 611

B Suspension profile; material: aluminum; anodized 30 … 3000 1 3 842 993 411/L

3100 10 3 842 537 679

Suspension profile; material: aluminum; natural 30 … 3000 1
ESD

3 842 993 063/L

3000 10
ESD

3 842 554 157

C Angle profile; material: aluminum; anodized 30 … 5600 1 3 842 992 412/L

6000 20 3 842 508 104

D 45x45L cap; material: PP; black 20
ESD

3 842 548 753

E R40x43 bracket, incl. fastening material for 10 mm slot; material: diecast zinc 3 842 518 424

F 15x30 suspension profile cap; material: PP; black 20
ESD

3 842 551 583

G Parts kit for angle profile: cap, stopper 20 3 842 554 491

H D125 castor with lock 3 842 541 228

I D125 castor 3 842 541 236

J HG-305 handles Set
ESD

3 842 538 930

K M8 T-nut for 10 mm slot 100 3 842 530 287


	Manual Production Systems
	IVZ
	Components
	Material shuttle assembly elements




